8.3/8.4 Areas of Circles and Sectors Homework Name K@{/
Geometry 3313

1. Sara, John, and Mike are calculating the area of a circle. 2 of the solutions are wrong and 1 is correct.
Explain who is correct and why the other 2 are wrong.

‘ John’s solution Sara’s solution Mike’s solution
A= 8y A=n(4) A=2x(4)
v A=64rcm’ A=167cm’ A=8rcm’

Person who is correct: SD-(‘ O

Why are the other 2 wrong? Explain why each is wrong.
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2. Find the area of a circle whose radius is 9 inches long.
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3. Find the area of the circle below.
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4. The area of a circle is 2562z cm?. What is the circumference of this circle?
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5. The circumference of a circle is 2567 cm. What is the area of this circle?
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6. Find the area of each of the sectors below.
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7. Alawn sprinkler moves in a circular direction and rotates 80° before it rotates back to its
starting position. If the sprinkler projects water out 20 feet, how many square feet of lawn
are being watered by the sprinkler? Round your answer to the nearest square foot.
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8. A sector has a radius of 6 yd and an area of 97 yd”. Find the central angle of the sector.
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